

If the fractions both have the same denominator, it does not change.

$$\frac{1}{4} + \frac{1}{4} = \frac{2}{4}$$

Only add the top numerator.

Add to solve the problems below.

$$\frac{2}{5} + \frac{3}{5} = \underline{\hspace{2cm}}$$

$$\frac{3}{8} + \frac{1}{8} = \underline{\hspace{2cm}}$$

$$\frac{6}{9} + \frac{2}{9} = \underline{\hspace{2cm}}$$

$$\frac{1}{3} + \frac{1}{3} = \underline{\hspace{2cm}}$$

$$\frac{2}{7} + \frac{4}{7} = \underline{\hspace{2cm}}$$

$$\frac{2}{4} + \frac{1}{4} = \underline{\hspace{2cm}}$$

$$\frac{6}{8} + \frac{1}{8} = \underline{\hspace{2cm}}$$

$$\frac{3}{5} + \frac{1}{5} = \underline{\hspace{2cm}}$$

$$\frac{5}{10} + \frac{3}{10} = \underline{\hspace{2cm}}$$

$$\frac{5}{12} + \frac{6}{12} = \underline{\hspace{2cm}}$$

$$\frac{4}{9} + \frac{2}{9} = \underline{\hspace{2cm}}$$

$$\frac{3}{7} + \frac{4}{7} = \underline{\hspace{2cm}}$$

$$\frac{2}{11} + \frac{7}{11} = \underline{\hspace{2cm}}$$

$$\frac{2}{9} + \frac{3}{9} = \underline{\hspace{2cm}}$$

$$\frac{6}{8} + \frac{1}{8} = \underline{\hspace{2cm}}$$